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QUESTION 1

Which network service is required for HCX vMotion migration?
A. Port Mirroring

B. HCX Interconnect Tunnels

C. DHCP

D. NSX for vSphere

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-
awsoperations/GUID-1A175E91-2317-4261-A63E-B398D92ECESD.html

QUESTION 2

At which point is a readiness assessment recommended?

A. After the VMware Cloud on AWS SDDC is deployed.

B. During the VMware Cloud on AWS SDDC deployment.

C. Before the VMware Cloud on AWS SDDC is deployed.

D. Once the VMware Cloud on AWS SDDC is already configured.
Correct Answer: C

Reference: https://www.presidio.com/file?id=1319

QUESTION 3

A cloud administrator is currently using a third party-supported ISV to protect the virtual machines and files inside the
VMware Cloud on AWS SDDC in their Oregon region. Currently backup jobs are stored on an Amazon Simple Storage
Service (S3) bucket in the Oregon region. The compliance officer has asked the administrator to copy these backups to
a different region in case of region failure.

Which solution is the most efficient?

A. Copy S3 backups from the Oregon bucket to a secondary bucket on a region of choice using a snowball.

B. Copy S3 backups from the Oregon bucket to the on-premises datacenter using a snowball appliance.

C. Enable S3 Cross Region Replication (CCR) between Oregon and a secondary region of choice.

D. Copy S3 backups from the Oregon bucket to a secondary bucket on a region of choice through an IPSec tunnel.

Correct Answer: C
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QUESTION 4

Which statement is true about HCX Bulk Migration?

A. Virtual machines must be powered off to initiate replication.

B. The HCX Bulk Migration maintenance window could be scheduled.

C. HCX Bulk Migration requires that vMotion be fully configured.

D. Extended Layer 2 networks are required for each virtual machine.

Correct Answer: B

Scheduled migration option, the switchover can occur during a maintenance window.

Reference: https://docs.vmware.com/en/VMware-HCX/services/user-
guide/GUID-20EA2946-57CD-4A87AE25-866E5336AEA9.html

QUESTION 5

VMware Cloud on AWS includes which two of the listed NSX-T networking constructs? (Choose two.)
A. Tier2 Router

B. Tierl Router

C. TierO Router

D. Edge Services Gateway

E. Distributed Logical Router

Correct Answer: CE
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